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QUESTION 1

A production cluster is attached to redundant disk fabrics and a tape fabric. Each cluster member has access to twelve
(12) TB of RAID 5 production storage and twelve (12) TB of RAID 0 local replica accessed through eight HBAs single
initiator zoned to sixteen storage ports on one storage subsystem. The tape fabric includes one connection to each
server and connections to four (4) 1Gb FC to SCSI gateways connected to ten (10) LTO II (35MB/s) tape drives. The
standby cluster member performs multi threaded backups using the local replica. All HBAs and ports are 2Gb/s. If the
recovery time is equal to backup time, where is the bottleneck? 

A. Tape HBA 

B. Disk HBAs 

C. Tape Drives 

D. FC to SCSI Gateway 

Correct Answer: A 

 

QUESTION 2

You are diagnosing a performance problem with a Fibre Channel attached server that is configured to run multipathing
with dynamic I/O load balancing. You are not seeing the expected performance. You have determined that the server
configuration is correct and that the fabric paths are not congested. What could be a possible cause for the lower than
expected performance? 

A. storage ports are configured to run half duplex 

B. storage architecture is cache centric 

C. storage ports are configured to run full duplex 

D. storage architecture is controller centric 

Correct Answer: D 

 

QUESTION 3

A customer has a database server that processes a great deal of data very quickly. They have identified a bottleneck in
the storage subsystem and requested a change to the RAID configuration. How would you configure the new RAID
group? (Choose two.) 

A. Stripe across 7200 rpm drives 

B. Stripe across 15K rpm drives 

C. RAID 6 

D. RAID 1+0 

E. RAID 5 
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Correct Answer: BD 

 

QUESTION 4

What is the next step after making a backup of your fabric configuration before making changes to the active zone set? 

A. Create a new zones 

B. Activate change tracking 

C. Disable the active zone set 

D. Copy the active zone set 

Correct Answer: D 

 

QUESTION 5

What two (2) benefits does SCSI Command Tag Queueing provide? (Choose two.) 

A. allows I/O requests to be queued to the device 

B. determines the most efficient way to order and process commands 

C. tags I/O requests so they can be executed first in first out 

D. allows SCSI I/O throughput to equal rates of fibre channel 

E. determines queue depth position 

Correct Answer: AB 
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